

                                   CLASS :X  
                            SOCIAL SCIENCE                  
                                  SECTION : A
                 MULTIPLE CHOICE QUESTIONS   (10x1=10)
1.‘Slash and Burn’ agriculture is –
(a) Shifting agriculture (b) Commercial agriculture 
(c) Intensive agriculture (d) None of these
2. Which of the following are plantation crops?
(a) Rice and maize (b) Wheat and pulses
(c) Tea, coffee, banana and sugarcane(d) None of the above
3. The three major cropping seasons of India are:
(a) Aus, Aman and Boro   (b) Rabi, Kharif and Zaid
(c) Baisakh, Paus and Chai (d) None of the above
4.Majoritarianism constitution was adopted by:
(a) Belgium (b) India  (c) Sri Lanka (d) Pakistan
5.Jhumming in Brazil is called:
(a)Ladang    (b) Roca   (c) Masole   (d) None of these
6.Which one of the following is not the cause of water scarcity?
a) Rapid growth of population  b) Uneven distribution of water resources c) Construction of dams and reserves
d)Increase in demand
7.Millets are coarse grains like
(a) Ragi.    (b) wheat.   (c) melon
Assertion Reason Questions
8.Assertion(A): India’s primary activity is Agriculture 
Reason(R): Two thirds of its population is engaged in 
agricultural activities 
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is NOT the correct explanation of A.
(C) A is true but R is false.
(D) A is false and R is true
9.Assertion: Power Sharing is good.
Reason: It leads to ethical tension.
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is NOT the correct explanation of A.
(C) A is true but R is false.
(D) A is false and R is true
10. Identify the crop with the help of the following information:
· It is a non food crop
· It is an equatorial crop
· It requires noise and humid climate with rainfall of more than 200 CM
· It is an important industrial raw material
Options:
a)Wheat   b) Sugarcane.  C)Tea.  d) Rubber
                       
                  SHORT ANSWER QUESTIONS       (2x3=6)
11.Give reasons why power sharing is desirable.
12.Describe  horizontal and vertical power sharing in modern democracies.
                              SECTION : D
           LONG ANSWER QUESTION  ( 4 marks)
15.Explain different types of farming system practiced  in India.





